
 
If 𝟎 < 𝒂 ≤ 𝒃 then: 

𝒆𝒂 + 𝒆−𝒂 + 𝟐 ∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝒙𝟐 + 𝟏)

𝒃

𝒂

𝒅𝒙 ≤ 𝒆𝒃 + 𝒆−𝒃 

Proposed by Daniel Sitaru – Romania  
Solution by Hikmat Mammadov-Azerbaijan 

𝟎 < 𝒂 ≤ 𝒃; 𝒄𝒂 + 𝒄−𝒂 + 𝟐 ∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝒙𝟐 + 𝟏)

𝒃

𝒂

𝒅𝒙 ≤ 𝒄𝒃 + 𝒄−𝒃 

Since 𝐬𝐢𝐧𝐡  convex on ℝ+ ⇒ ∀𝒕 ∈ ℝ+, 𝐬𝐢𝐧𝐡(𝒕) ≥ 𝒕 ≥ 𝟎 

∀𝒕 ∈ ℝ+, 𝐬𝐢𝐧𝐡𝟐(𝒕) ≥ 𝒕𝟐,            ∀𝒕 ∈ ℝ+, 𝟏 + 𝐬𝐢𝐧𝐡𝟐(𝒕) ≥ 𝟏 + 𝒕𝟐 

∀𝒕 ∈ ℝ+, 𝐜𝐨𝐬𝐡𝟐(𝒕) ≥ 𝟏 + 𝒕𝟐 

∀𝒕 ∈ ℝ+, √𝐜𝐨𝐬𝐡(𝒕) ≥ √𝟏 + 𝒕𝟐𝟒
 

So ⇒ ∀𝒕 ∈ ℝ+,
√𝐜𝐨𝐬𝐡(𝒕)

√𝟏+𝒕𝟐𝟒 ≥ 𝟏 

The Cauchy – Schwarz inequality gives ⇒ 

∀𝒙 ∈ ℝ+, ∫ 𝐜𝐨𝐬𝐡(𝒕)
𝒙

𝟎

𝒅𝒕 ∫
𝒅𝒕

√𝟏 + 𝒕𝟐

𝒙

𝟎

≥ (∫
√𝐜𝐨𝐬𝐡(𝒕)

√𝟏 + 𝒕𝟐𝟒

𝒙

𝟎

)

𝟐

 

∀𝒙 ∈ ℝ+, ∫ 𝐜𝐨𝐬𝐡(𝒕) 𝒅𝒕 ∫
𝒅𝒕

√𝟏 + 𝒕𝟐

𝒙

𝟎

≥ (∫ 𝒅𝒕
𝒙

𝟎

)

𝟐

 

i.e: ∀𝒙 ∈ ℝ+, 𝐬𝐢𝐧𝐡(𝒙) 𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙) ≥ 𝒙𝟐 

So ⇒ ∀𝒙 ∈ [𝒂; 𝒃],
𝒙𝟐

𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙)
≤ 𝐬𝐢𝐧𝐡(𝒙) 

∫
𝒙𝟐

𝐚𝐫𝐜𝐬𝐢𝐧𝐡(𝒙)

𝒃

𝒂

𝒅𝒙 ≤ ∫ 𝐬𝐢𝐧𝐡(𝒙)
𝒃

𝒂

𝒅𝒙 

i.e: ∫
𝒙𝟐

𝐥𝐧(𝒙+√𝟏+𝒙𝟐)

𝒃

𝒂
𝒅𝒙 ≤ 𝐜𝐨𝐬𝐡(𝒂) − 𝐜𝐨𝐬𝐡(𝒃) 

𝟐 ∫
𝒙𝟐

𝐥𝐧(𝒙 + √𝟏 + 𝒙𝟐)

𝒃

𝒂

𝒅𝒙 ≤ 𝒆𝒃 + 𝒆−𝒃 − 𝒆𝒂 − 𝒆−𝒂 

Finally ⇒ 𝒄𝒂 + 𝒄−𝒂 + 𝟐 ∫
𝒙𝟐

𝐥𝐧(𝒙+√𝟏+𝒙𝟐)

𝒃

𝒂
𝒅𝒙 ≤ 𝒄𝒃 + 𝒄−𝒃 


